



2) It also appears that some of the entries of the A[9][9] matrix in page 281 have been contaminated with an additional “ $y_2$ ” term in the article.

The way that they appear in the article:

$$A[8][5] = \frac{2}{3}(1-\nu)x_3y_2(x_3y_2 + (y_2 + y_3))$$

$$A[8][6] = \frac{2}{3}x_3y_2(x_3y_2 + \nu(y_2 + y_3))$$

$$A[8][7] = \frac{1}{2}x_3^2y_2\{2\nu x_3y_2 + (y_2 + 2y_3)\}$$

$$A[8][8] = \frac{1}{3}x_3y_2\{(3-2\nu)(x_3^2y_2) + (2-\nu)(x_3y_2)(y_2 + 2y_3) + (3-2\nu)(y_2^2 + y_2y_3 + y_3^2)\}$$

The corrected terms:

$$A[8][5] = \frac{2}{3}(1-\nu)x_3y_2(x_3 + (y_2 + y_3))$$

$$A[8][6] = \frac{2}{3}x_3y_2(x_3 + \nu(y_2 + y_3))$$

$$A[8][7] = \frac{1}{2}x_3^2y_2(2\nu x_3 + (y_2 + 2y_3))$$

$$A[8][8] = \frac{1}{3}x_3y_2\{(3-2\nu)x_3^2 + (2-\nu)x_3(y_2 + 2y_3) + (3-2\nu)(y_2^2 + y_2y_3 + y_3^2)\}$$